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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI

_WN', ’slSetVIl']]

400

300

200

tte

setVI_ETcl

setVI|_fgRec
setVI|_VN

slSetVI

100

=AY 00

rvo W W W)V N

- oww wr ow= -

30

40

50

70



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BfiE) | FEBIETK (D) | E#=E (EH/K) | XK R

07:50 283 150.0 Be| ThHHe07:50 REFEF (KAEZREE)
08:30 283 150.0 B5| TiHA@08:30 KRENFERF (RF1EREE)
09:10 283 150.0 R5| TiHAe09:10 KRHEFERF (RAEHS)
10:00 283 150.0 Be| TiHH@10:00 REFEF (KAEZRE)
10:40 283 150.0 Be| TiHH@10:40 RHEFEF (KRAEZRER)
11:20 283 150.0 R5| TiHAe11:20 KRHFERF CRAEHS)
12:00 283 150.0 Be| TiHfe12:00 REFEF (KAERE)
12:40 283 150.0 Be| ThiHHe12:40 RHEEF (KRAEZRRE)
13:20 283 150.0 R5| TiHAe13:20 KRHIEF (RAEHS)
14:00 283 150.0 Be| TiHfe14:00 REEF (KBAEZRE)
14:40 283 150.0 Be| ThiHHe14:40 RHEF (KRAEZREE)
15:20 283 150.0 B5| TiHAe15:20 KRENFEF (RA1ERER)
16:05 283 150.0 Be| TiHfe16:05 REEF (KHAERE)
23t 3679.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

H#HERECE (2220. 0 vs 4760. 0) 1
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P3-12

AriE) | BRI (D) | EHME (EH/K) | XK SRR

07:25 283 150.0 RS {Ri&e07:25 Hah (REAMERSE)
08:00 283 150.0 S| 1Ri%e08:00 Bal (REEZES®R)
09:00 283 150.0 (Z=| 1Ri%@09:00 Bz (kBHERSE)
09:45 283 150.0 (2 =| 1BRi%e09:45 Bxh (kBFERSE)
10:20 283 150.0 (2 =| 1BRi%@10:20 Bz (kBFERSE)
10:55 283 150.0 (& =| 1Ri%@10:55 Bz (GkEBERSE)
11:35 283 150.0 |Z=| 1Ri&e11:35 Bzl (GREAEESE)
12:15 283 150.0 (2 =| BRige12:15 Bz (kBFERSE)
12:50 283 150.0 |Z=| 1Ri&e@12:50 Bzl (GRB{EEE)
13:20 283 150.0 RS {Rige13:20 Bz (REERE)
13:50 283 150.0 S| Rige13:50 BHa (REAEHE)
14:25 283 150.0 B Rige14:25 Bz (REAERSE)
15:00 283 150.0 B 1Rige15:00 B3h (REEER)
15:35 283 150.0 BE| {Rig&e15:35 BHa (REAERE)
16:25 283 150.0 (2 =| 1Ri%e16:25 Bz (kBFERESE)
23t 4245.0 (15)%) 2250. 0 3233 %EC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (2323. 0 vs 4623.0) iH 5
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m=705,n FV0=0

46 -

45 -

44

43 A

—— MW

e

7%0 7%5
m=830,n FV0=0

46

45 A

44 -

-— MW

7
i

835 840

38 1 —— MW
T T T T
400 600 800 1000
m=600,m FV0=0
457 —— MW
44 1
43 1
42 1
414
T T T
600 605 610
m=740,m FV0=0
—— MW
46 -
45 1
44 |
43 -
740 745 750
m=860,m FV0=0
—— MW
46 1
45
44 1
43 4

860 865 870

m=435, FVO0=0
44
—— MW
43 -
42
41 4
40 -
39 -
38
435 440 445
m=635,m FV0=0
—— MW
45 4
44
43 -
42 -
635 640 645
m=770,m FV0=0
—o— MW
46 -
45 -
44
43 -
770 775 780
m=895,m FV0=0

46

45 ~

44 -

43 -

-o— MW

895 900 905

m=475, FV0=0
47 |
—— MW
46
45 -
44 1
43 -
42
475 480 485
m=670,m FV0=0
46 -
—— MW
45
44
43
670 675 680
m=800,m FV0=0
—— MW
47
46 -
45
44
800 805 810
m=935,m FV0=0
46 1 —— MW
45 -
44
43 -
935 940 945




m=975, FV0=0

47 -
—— MW
46 -
45 -
44 -
T T T
975 980 985

m=1040, FV0=0

47 -

46

45 ~

44

—0—

M_W

T T T T T T
1040.0 1042.5 1045.0 1047.5 1050.0 1052.5

m
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P3-12

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

07:40 283 150.0 RS {Ri&e07:40 Bzl (REERESE)
08:15 283 150.0 RS {Ri&e08:15 Bzl (REERSE)
09:05 283 150.0 RS {RRi%@09:05 Bzl (REEREE)
09:50 283 150.0 A5 {Ri%@09:50 Bz (REERR)
10:25 283 150.0 B 1Rige10:25 Bzh (REEESE)
11:00 283 150.0 RS {Ri&e11:00 Bz (REERS)
11:35 283 150.0 S| Ri%e11:35 Bz (REERRSR)
12:05 283 150.0 el Rige12:05 Ba) (REAEHSE)
12:40 283 150.0 B Rige12:40 Bz (REAEHE)
13:10 283 150.0 RS Ri%e13:10 B3 (REAERESR)
13:40 283 150.0 el Rige13:40 Bal (REAERESE)
14:10 283 150.0 el Rige14:10 Bz (REAEHE)
14:40 283 150.0 e Rige14:40 Bz (REAERSE)
15:15 283 150.0 el Rige15:15 Ba) (REEESE)
15:50 283 150. 0 S| Ri%@15:50 Bz (REERESE)
16:30 283 150.0 BE| RiBe16:30 Bzl (REAEHSE)
17:25 283 150.0 el Rige17:25 Bal (REAEESE)
23t 4811.0 (170%) 2550. 0 #2353 KEC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[EEECZE (2400. 0 vs 4320.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=56 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000

100 A

50

(¢
200 -
150 -

100 A

[S3)
o
1

V1, VO #RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2100

653

40

Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

- 2000

- 1000

=

- 30

- 28 =

- 26

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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300 -

200 -

100 -

O_EJ' 2
0 1

]
Bylnit} @58 01:48: ET=1796 Fg=2250.0 Ro=483.0
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e 111l
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=
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=
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E3 ES

B 51 3000

200 -

100 -

ByEt @D56 19:07: ET=1835 Fg=2142.0 Ro=nan _—
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- 2000

- 1000
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300 A
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=
B

E3
B
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B

=
B
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B

I

]

E3
B

E3 ES

200 -

100 -

]
ByWon:@D58 01:48: ET=2031 Fg=2550.0 Ro=546.0 _—

A

1.0

12

14

B 51 3000

- 2000

- 1000

22 23

0.8

B B 5]

=
B

E3
B

E3 ES

B 5]

0.6

0.4+

0.2~

0.0

1500 ~

1000 A

500 -

—@— PPFD obs

|
| _obs

80 -

60

40

—— RH
(] RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29.

29.

29.

29.

28.

28.

28.

30.

30.

29.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

29.

T T
600 800

m=590,m FV0=0

T T
595 600

m=745,m FV0=0

7é0 765
m=890,n FV0=0

75 A

50 A

25 A

00 -

75 -

50 A

25 -

——

895 900

28.5

28.0 A

27.5 A

27.0 -

26.5 A

29.

29.

29.

29.

28.

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

m=450, FV0=0

T
450

T T
455 460

m=635,m FV0=0

75 1

50

25 A

00 -

75 A

50

T T
640 645

m=780,m FV0=0

25 - —0—

00 -

75 A

50

25 ~

00 -

780

785 790

m=930,m FV0=0

75 4

50

25

00 -

75 -

50 -

930

935 940

29.

28.

28.

28.

28.

30.

29.

29.

29.

29.

29.

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

29.

29.

29.

m=495, FV0=0

——

560 565
m=675,n FV0=0

0_

650 6é5
m=820,n FV0=0

25 A

00 ~

75 -

50 A

25 A

00 -

820

8&5 8é0
m=980,n FV0=0

50 A

25 A

00 ~

75 -

50 -

25 -

——

980

985 990

29.

29.

29.

28.

28.

30.

29.

29.

29.

29.

29.

30. 50 A

30. 25 A

30. 00 A

29.75 A

29.50 A

29. 25 A

38

m=535, FV0=0

535 5&0 5&5
m=710,n FV0=0

710 7%5 7&0
m=855,n FV0=0

—&— M_E

855 860 865

600 800



m=450, FV0=0

a4 —— MW
43
42
41
40 -
39
T T T
450 455 460
m=635,m FV0=0
—— MW
44
43
42
41 1
T T T
635 640 645
m=780,m FV0=0
47 -
—— MW
46 -
45 -
44
43
780 785 790
m=930,m FV0=0
46 7 —— MW
45
44
43 1

930 935 940

m=495, FV0=0

46 A

45 -

44 -

43

42

—— MW

560 565
m=675,n FV0=0

45 ~

44 -

43 -

42

41

—— MW

650 6é5
m=820,n FV0=0

46

45

44

43 -

42 -

—o— MW

820

8&5 8é0
m=980,n FV0=0

46

45 -

44 -

43 -

-— MW

7

980

985 990

m=535, FV0=0

47 A

46 -

45 -

44 -

43 A

—— MW

535

5&0 5&5
m=710,n FV0=0

48 -

47 A

46 -

45 -

44 -

43 -

—— MW

710

7i5 7&0
m=855,n FV0=0

45 -

44 -

43 A

42 -

—o— MW

855

860 865

m=590, FV0=0
451 —— MW
44 4
43 -
42 4
41 4
T T T
590 595 600
m=745,m FV0=0
P
45 -
44 4
43 4
42 R T T T
745 750 755
m=890,m FV0=0
46 -
—— MW
45 4
44 4
43 4
890 895 900
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P3-12

AriE) | BRI (D) | EHME (EH/K) | XK SRR

07:40 283 150.0 |Z=| 1Ri&e07:40 Bz (KRPB{EEE)
08:15 283 150.0 RS {RRi&e08:15 Bzl (REEREE)
09:15 283 150.0 |Z=| 1Ri&@09:15 Bzl (kE{EEEE)
10:00 283 150.0 (Z=| 1Ri%@10:00 Bz (KREEESE)
10:40 283 150.0 (2 =| 1Ri%@10:40 Bz (kBFERRSE)
11:15 283 150.0 |Z=| 1Rige11:15 Bz CGREBEREE)
11:50 283 150.0 | =| 1Ri&e11:50 Bz (RB{EEE)
12:25 283 150.0 (2 =| BRige12:25 Bz (kBFERSE)
13:00 283 150.0 FA| 1Bi&@13:00 Bah (KRAERSE)
13:30 283 150.0 FA| {Ri&@13:30 Bzl CGkAEEE)
14:05 283 150.0 FA| {Ri&@14:05 Bz (GRAEEE)
14:40 283 150.0 FA| 1Bige14:40 Bzh (RAEREE)
15:15 283 150.0 | =| {Ri&e15:15 Bz (RBEEE)
15:50 283 150.0 (2 =| 1BRi%e15:50 Bz (kAFERSE)
16:35 283 150.0 (2 =| 1Ri%e16:35 Bz (kBFERESE)
23t 4245.0 (15)%) 2250. 0 3233 %EC: 2080.0, PH: 5.6

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHERECE (2393.0 vs 3957.0) 45



FRV (ml plant-1)

ET (ml/hr/plant)
o
O{E
98

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=55 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 2100 142
100 41700 893 2000
222
50 - 1000
40 40

Warning: lcol [FVI',| "FVO’'] missing

150 -

100 A

50 -

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

400 ] BYInit; @58 01:49: ET=1790 Fg=2250.0 Ro=486.0 3000

& ©
e & © L 2000

200

1LL

- 1000

100 -

2 | 3 [ a5 T 6] 789 JoJin 12 @]14]15[16[]17[18] 1920212723
oz | B [ BB | B | B | B5 [BF | FF | B | s [BE | FE | R | B [ BE | FE | R5 | B [ BE | BF | ”5 | B | BB

ByEt @D55 19:07: ET=1738 Fg=2142. 0 Ro=nan

3000

300

200 - S - 2000

_—
100 /l/l I i1 ‘i\ - 1000

o g2 110} F\"\\ 0

1 2 | 3 [4]5 6T 789 [T [T [TwE[7]18[0®[20]J21[2[2],
25|25 |22 R 25|25 |27 (25| B (25|27 (27|25 W | B [ZR|Z2E|25 |22 (25| B | B | BB

1
ByWoF vl @D58 01:49: ET=18935 Fg=2250.0 Ro=463. 0

300

- 2000
200

100 - 1000

i
1
1
1
:
1.0 | — —1’E > 4
-

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.6

0.4+

0.2~

0.0

—_— 4
| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0 m=495, FV0=0 m=545, FV0=0

280 4 . M_E 28. 8 1 o M_E 29. 2 1 - M_E
29.0 A
27.5 28.6 7
28. 8 -
27.0 28. 4
28. 6
26. 5 A 28. 2 4
26 L T T T T T T T T T 28 4 L T T T
600 800 1000 460 465 470 495 500 505 545 550 555
m=595,m FV0=0 m=645,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
29. 75 A
29. 4 - M_E 29. 4 - . M_E 29. 50 - - M_E - M_E
29, 7 29.2 29. 25 29. 50
29.0 A 4 29. 25 A
29,0 - 29. 00
28.8 - 28. 75 - 29. 00 -
28. 8
28. 6
28. 50 - 28. 75 A
28.6 1 28. 4 -
28. 4 A 28. 2
T T T T T T T T T T T T
595 600 605 645 650 655 695 700 705 735 740 745
m=770,m FVO=0 m=800,m FV0=0 m=835,m FV0=0 m=875,m FV0=0
—&— M_E - ME 30. 2 - —o— MNE 30. 2 - o ME
29. 8 30. 0 A
30. 0 A 30. 0 A
29.6
29. 8 1
29. 8 A 29. 8 A
29. 4 A
29.6
29 2 29.6 - 29.6 -
99 0 4 29. 41 29. 4 1 29.4 1
28. 8 29.2 A 29. 2 29. 2 1
770 775 780 800 805 810 835 840 845 875 880 885
m=920,m FV0=0 m=965,m FV0=0 m=1020m FVO0=0 m
30. 25 - -@— ME 30. 2 -—@— ME 30.25 4+ —@— M_E
30. 00 - 200 4 30,00 -
29.75 A 29. 8 29.75 A
29. 50 ~ 29. 6 99. 50 4
29. 25 - 29. 4 -
29. 25 A
29. 00 - 29. 2 1
29. 00 A
920 925 930 965 970 975 1020 1025 1030 600 800 1000



m=460, FV0=0

45 1 —— MW
44
43
42
41
40 -
39 - T T T
460 465 470
m=645,m FV0=0
44 1 —o— MW
43
42
41 -
T T T
645 650 655
m=800,m FV0=0
—o— MW
46 -
45 -
44
43 -
800 805 810
m=965,m FV0=0
45 -
—o— MW
44
43
42 -

965 970 975

48

47 -

46

45 -

44 -

43

44

43

42

41

40

m=495, FV0=0

—— MW

495 560 565
m=695,n FV0=0

—— MW

695 760 765
m=835,n FV0=0

—— MW

45 _

44

43 -

42

835 8&0 8&5
m=1020m FV0=0

46 - - MW

45

44 -

43 A

42

il

1020 1025 1030

m=545, FV0=0
48 —— MW
47 -
46 -
45 -
44 -
T T T
545 550 555
m=735,m FV0=0
44 - —— MW
43 -
42 -
41 -
T T T
735 740 745
m=875,m FV0=0
45
—— MW
44 -
43
42 -
875 880 885

m=595, FV0=0

47 A

46 -

45

44

43 -

—— MW

T
595

660 665
m=770,n FV0=0

45 -

44

43 -

42

41

—o—

M_W

770

7;5 7é0
m=920,n FV0=0

44

43
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925 930
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P3-12

BriE) [ EBIETK (D) | EHE (EH/HK) | XK SRR

08:05 288 150.0 A5 {Ri%@08:05 Bz (RFHEREE)
08:50 288 150.0 RS {Ri&e08:50 Bz (RFEAERSE)
09:45 288 150.0 RS 1Ri&009:45 B3 (REEREE)
10:30 288 150.0 |Z=| 1Ri&@10:30 Bz (KRBEEE)
11:15 288 150.0 el Rige11:15 Ba) (REAERSE)
12:00 288 150.0 RS Rige12:00 Bz (REAERE)
12:45 288 150.0 RS Ri%e12:45 Bz (REERESR)
13:30 288 150.0 el Rige13:30 Bal (REAEHSE)
14:15 288 150.0 BE| Rige14:15 Bz (REAERE)
15:05 288 150.0 BE| {Ri%e15:05 B (RF{EREE)
16:00 288 150.0 BE| Rige16:00 Bal (REAEESE)
23+ 3168.0 (11)%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

MEBEHERE STMAREARS (187.0 : 150.0), AIEEHTF—®E XAH4
ZRIAEBRERE150. 0 ml.
FHEHECE (2370.0 vs 3623.0) 1R



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=54 (2025-05-26)

LR S e e i E e PP
VI, V&*8RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2100 2057

100 - 1700 Hes0
363 365

- 2000

50 - - 1000

20 40
Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -
150

100 A

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit] @58 01:49: ET=1468 Fg=1800.0 Ro=383.0 +
- 2000

200

100 4 - 1000

P — — —

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 5 i 5 5 5 i H H 5 A B 5 G i B 5 G A B 5 G A

- 2000

1
200 1 ByFt @D54 19:08: ET=1227 Fg=1683.0 Ro=nan 1
11 —— e

1 |
100 - i
1

0 1!7!3 == - 0

4 5 1 6 [T 789 [rmoJirJi12]w@[14a]T15[16]17 1819202122723
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. —

- 1000

- 2000

200 1 ByWoFvi @D58 01:49: ET=1365 Fg=1650.0 Ro=326.0° =
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100 4 - 1000

ET (ml/hr/plant)
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0.0
1500 4 —_

[ ] | _obs
—@— PPFD obs

1000

500 A
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

—— ME —o— ME 29. 21 —e— ME
28.01 28. 8 -
29.0
27.5
28.6
28.8
27.0
28. 4 28,6
26.5
28.2 28.4
T T T T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
m=595,m FV0=0 m=650,m FV0=0 m=705,m FV0=0 m=745,m FV0=0
—o— ME —o— ME 29.5071 _o mE 29.754 —@— ME
29.2 29. 4 1
29. 25 -
29.2 29. 50 -
29.0
29. 00 -
29.0 29. 25 -
28.8 1 ) 28.75 -
8.8 - 29. 00 -
28. 6 i
28.6 1 28.50
28. 75 -
28. 4 284 - 28. 25
28. 50 -
T T T T T T T T T T T T
595 600 605 650 655 660 705 710 715 745 750 755
m=785,m FV0=0 m=830,m FV0=0 m=880,m FV0=0 m=950,m FV0=0
—o— ME —o— ME —o— ME —o— ME
29. 75 - 29. 75 - 30.0 1 30.0 1
29. 8 29.8
29. 50 - 29. 50 -
29.6 29.6
29. 25 - 29. 25 -
29.4 29.4
29. 00 - 29. 00 -
29.2 29.2
28. 75 - 28. 75 - 290 - 99 0 -
785 790 795 830 835 840 880 885 890 950 955 960
m m=445,m FV0=0 m=495,m FV0=0 m=540,m FV0=0
45 4
42 - —o— MW 46 —— MW —— MW
_ 44 _
41 45
40 44 43 -
39 + 43
42 -
38 1 42
600 800 1000 445 450 455 495 500 505 540 545 550



45

m=595, FV0=0

44 4

43

42

41 -

—0—

M_W

595

T T
600 605

m=785,m FV0=0

45 -

44 4

43 A

42 -

41 -

40 ~

—0—

M_W

785

790 795

m=650, FV0=0

43 -

42

41

40 -

—— MW

T
650

T T
655 660

m=830,m FV0=0

43 A

42 -

41

40 ~

39 A

—— MW

T
830

835 840

m=705, FV0=0

44

43 A

42 -

41 -

40 ~

39 A

—0—

MW

T
705

T T
710 715

m=880,m FV0=0

44

43 A

42 -

41 -

—0—

M_W

T
880

885 890

m=745, FV0=0

43 -

42

41

40 -

39 A

—0—

MW

745

T T
750 755

m=950,m FV0=0

44 4

43 -

42 -

41 -

—0—

M_W

950

955 960




